Secondary Math 2

End of Year Review Name: m

0 Period:
Answer each question thoroughly.
EOYR Part 1 — The Number System
1) Simplify: w/16 r_ 2)  Rewrite in exponential form.
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9) Simplify: Lz=—l 10) Simplify:
2i)(—-6i) = —'\lL (2 +.i) - (4-3i0)
= —12(-D = 2+tu-4+3L
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11) Simplify the expression and put in 12) Simplify the expression and put in standard
standard form: for,
(—=7x% + x3) = (x? + 4x3 = 7x%) (3b+4)(4b - 5)
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13) Factor out the common factor:
—72y3x% + 36y° + 63y3
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14) Factor completely:
m? —3m — 10
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15) Factor completely: 16) Factor completely:
6x% — 36x + 30 9p? - 25
O (X*=bx+95) 5 a®—b> = (a+b)(a-b)
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EOYR Part 2 — Quadratic Functions

17) Solve by factoring:
2x+8)(x—-1)=0
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18) Solve by factoring:
x*2+10x+21=0
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19) Solve by taking square roots:
x? =[-84
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20) Solve by completmg the square:
m?+14m+47 =0
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21) Solve using the quadratic formula:
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22) Solve by any method:

128 =10
+ 2@ H29

-2
2
Ao
¥=£Jio+

2

2(2) %= |X=~2|
=9t Jel180 _dtJie]
Y -
- a+ =g+ =5~
a\q\% e ek
(X=*y| (x==1)
23) Graph: \(fercept form 24) Graph: \ferfex form

y= —(x+2)(x—4)—.

y=2(x-3)-1
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25) Given the following graph, what is the 26) What is the vertex of
range of the function? \ﬂ"V‘I\WS y=—-(x+1)2+27 \Jexrtex fvrm
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27) Isthevertexofy =3(x+1)?+1a

28) What is the axis of symn'L:ry for

maximum or a minimum? y=—(x— 5)2 + 77 passes ‘W\mu h
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29) Sketch the graph of the function by o}
making a table of values. Use x = — =

2a
as the middle point in your table.
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30) Find the real roots of the function. If
there are no\éil rootsﬁlr]dlcate no
solution. '
y =2x%+4x — 96TD
2(X%2x—4p)=0 =
|
2(x+8)(X—6) =0
~ - el
(X+BYX-0)=0
X+ @=0 X-0=0

31) The path of an arrow can be modeled by
h(t) = —16t% + 64t + 6, where h(t) is the
height of the arrow in feet t seconds after
being released. When will the arrow hit the
ground? h=0 el e

0= -t +LMHt+l
= == Je4*-4(-16) ()
2(-10)
= =000 o £= 4.0
(£=4.09 ccconds |

32) Arectangular porch has an area of 150
square feet. The length of the porch is 5
feet longer than the width. What is the
width of the porch?

33) The Exchange House in London, England, is
supported by two interior and two exterior
steel arches. The shape of each supporting
arch can be modeled by h(x) = —.025x2 + 2x,

A=I150 ftz where h(x) represents the height of the arch
D in meters and x represents the horizontal
A:ﬂ w distance from one end of the base in meters.
0=5+w How tall is the arch? verteX
(Gtw) (W) = 150
5W+wr=190
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e T .
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34) Graph the function:

35) Graph the piecewise function
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SIDF’CJ EOYR Part 3 — Structures of Expressions

36) Find the average rate of change for the
function over the given interval.
y=2x*—-5x+7;[-1,3]

Y= 2(-N=s5ENHT = |y
Y2=2(3)*-5(2)+1° |0

= Y27 Y 0—1Y4
m“,_ = e~
X2~ X, 3 =(-1)
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37) Putthe equation into vertex form.

y =3x? +18x + 24 —EFZ(X~hﬁ-I<J
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<c=b =18 _
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k=3C3+18(-2) vt = -3
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38) Solve the system of equations. Write
your answer(s) as a coordinate pair.
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39) Solve the system of equations. Write your
answer(s) as a coordinate pair.
{y=x2—11x+28

\y ==3x+12
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40) Solve the system of equations. Write
your answer(s) as a coordinate pair.
{xz 9= = 3k
y =4
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X=t3

(G 24))

41) Solve the system of equations. Write your
answer(s) as a coordinate pair.

{xz ?EZ = 10
xti=0

X“+ (x+4) =10 X="-1
o TN 10 | 430
X2+ Xz-\-‘-l-)(+L|-X+|b =|0 =-3

2x* + %X w—wr—\\% i’f*'fﬁ
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2x"+ BX+6=0
y= -3t =1
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Use the following functions for the next six problems:
fG)=2x-7, gx) = —x +4, hlx) = 2% =2

42) (f+9)(x)
(ZX-TH Ex+4)
LTI XtY

13) (g-N
e
(=XA4)—(2%)
S~ 2=

(=ax~+Il ]

44) (f - g (x
(2@%)

=-2X"+ BX+TX~29

= (—2x"+ =X —22 |

45) (f9)(3)
from #44 (fg)(X) = -2+ (SX-28

§9)@)= -2 (aV+15(2)-22
= ~F{ UG S
= —|B4+45—25

46) (h—g)(2)
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48) Given the graphs of the piecewise functions, evaluate the following.

f(x) a) /(3 b) /(2) ) /(=1
X=3 X=2. =
Ej:: 3 \j'—‘— A U = l
d) Whatdoes e) Whatdoes f) What does x
xequal when  xequal when equal when
J)=4 424 f(x)=0 Y=0 f(x)=1 y=|
= X=0 i
2} X=4 X= |
49) Evaluate the following Piecewise function given the equation
_(x+5,ifx<3 _(x%2—4,if x <10
f(x)_{Zx—l,ifx>3 g(x)“{ 5x,if x > 10
() 9(7) g(10) = f(3)
2() - (1)=-4 5(10) (- LptS (ZPHS
-(B] |=[5] = 50 3] =B8]

EOYR Part 4 — Probability

Fill out the rest of the table and use the table data to find the probability of the events for the

following six questions.

Bus Car Walk Total
Male 146 166 82 394
Female 154 185 64 403
Total 300 35| Y0 797
and
50) P(Bus) 51) P(Male N Bus)
- 200 = 4@
197 il
52) P(Car'NW'Walk) Not posSibles 53) P(Walk | Female) WY
= O B
7 o 03
54) P(Male|Bus)  ((4(, 55) P(Female UWalk) = P(F)+p(W) —p (FOW)
= = 4o
300 D2+l ot g
197 197 =g




EOYR Part 5

— Triangle Similarity

56) Draw the dilation with
Center (0,0); scale factor %

A

57) Determine the scale factor of the dilation.

e
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58) Determine if the following triangles are | 59) Determine if the following triangles are
similar. If so, write a similarity similar. If so, write a similarity statement.
statement.
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60) What is the length of DE? ™ qm\v 61) Given that £B is bisected, what is the length
— of DC?
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62) Giventhat AD = 2,DB = 3,CE =
3,and BE = 4.1s AC || DE?

Li
checke 3.4 1

63) Find the measures of the missing angles.
Given: m«3 = 92 mL%_V‘:rY)LZ—‘V% mLQ
m<] = C’ZO
£1+£2=180°
SO M4l = BB

o

Mmés =
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64) Find msA and msB

(2: 1)= 854’

w2 o

L, T96°
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—— <D= 18005 B0 -15-T15=X
TXFES=128" i .
o= lS o @
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=
66) Given that DE is a midsegment. Find the 67) Find mszA, msB, msC and msD .
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68) Determine whether the given vertices 69) Giventhatr || sandt || u, prove that
form a parallelogram. 45 = £12 (Remember to give reasons for
T(g,S),&](S,B), V(6,7), and W (3, 4) your statements) one Way -
2" 2 sefs of T gigtement @son
pavalle| (inec rlls, /U | given
So Sl
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70) Find the missing side. 71) Find x.
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72) Findthesind go|4 73) Findthesecd = hyp
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CQ \g‘ ne = 10 <§ 2 \Fﬂ.
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74) Find the value of ¢ 75) What is the value of x, to the nearest
Y4 hundredth? CAH
6 nd="15

opP \\MP

14 \ 2 iz d=tan | (_%_ o
@\ ra) e 50’) 1
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76) Will stands 20 feet away from a soccer goal. The upper cross-bar of the goal is 8 feet above the
ground. Will is capable of kicking the soccer ball so fast, that the ball travels in a straight line
(considering this means the ball is no longer influenced by gravity, this is exceptionally cool). At
what angle of elevation (to the nearest hundredth) must Will kick the ball in order to hit the
upper cross-bar? S

tane ===

20 ;
opp z = - 9 Q= 2| &°
» % 2 &= N (7'03 E—_@

(o)
77)After a bug)?g%y of teaching math at Orem High School, Mr. Gilchrist doesn’t want to wait
patiently behind the students as they slowly walk down the stairs. So, he installs a zip-line cable
from the corner of the building, which is 56 ft tall to the ground by his reserved parking space,
which is 38 ft from the building. From the corner of the building where the cable connects to the
building, what is the angle of depression (to the nearest hundredth) of the zip-line?
tang= 22
3P 10

o~ tan"(3%) (6= 584" |




EOYR Part 6 — Circles

78)  Find the length of the arc. AL = 2nr - 3;:"0

» . ; B
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79) What type of angle is 2BCD?

Central
mBD =2 2.(29°) = Fee |
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/ 30\ O\
!f/ /}{ ‘7\\ '
f’ °A X“\ z’
;
\/  \/
\ vd
e pYs

80) Find AD and Find AE
Assume that lines that appear to be
tangent are tangent.

_ v MH+25=AC
BER q o= A
c%:é_go 7) Ac=I3

b 12-5=%
5= 12|

D

9]
(94 + 3t)°
(7t+2)°
E
B

“T+2= ﬂ%fg\;t
= __:G‘Q_ =
HENZ At S\Q_\: 1= =22
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82) Find m«C and m«D.

B
<Al

19

LDQLC

83) Solve for x:

Y= 24°

2= 131"
2le¥1)= 3c=|y '
; = I—I = ¢
LTyl

Nory=18)

84) Solve for x. Assume that lines which
appear tangent are tangent.

X Q@= (‘-\- +x)*
Xro4= (X+4) (4
’;f(o"t; * gxtlo

=%
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85) What is the length of BC? Assume that lines
that appear to be tangent to the circle are
tangent.

20 4+ X" = 29*

Q0 +x == O
2;}%@) -400
Ix=uyl

C

11



86) Determine if line AB is tangent to the

circle. oheqo f qq'-(—bl:Cl
A

/””;/; T420* =23

AN 4q+400 = 529
9 = 529

[(NOT TANGENT |

2

AN

87) Solve for x.

2x-14%11={”0
IE=IFY

ey

88) Identify the center and radius. Then

sketch the graph.
(E=1%+ [y+2) =9
Center: (| ,—'7-)
Radius: 9 'El
10+
i
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89) Identify the center and radius. Then sketch
the graph.
(x+1)?+y2=25

Center: (—1,0)
Radius: 5 Vo
1o}

o
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4
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90) Point A(3,3) is on circle Z, which has

91) Write the equation of the circle.

center Z(0,2). (h, 7 T r=3 %o r=
Write the equatgon‘of t)he circle. =T \\ Cerg;,f_“ L
> 5 /
A P=r* () (Y= > J s\ (g, o)
q+r\=r* | f" = 2
! A1)+ =
r=10 COT 2 ) wl G L (x-4) (‘j_q) il
(x-0f+(yD=lo| '8
92) Find the area of the sector.
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